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N = 0] &F AF S & AN A
20168 20 A QASESII2ELEZH JA
EX: X 22l
My ROD|IEMBEE
@ MASS o2 N (ASESII2ELEAH) (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
S X2l 721,440 697,091 24,349
= 557,530
Al H] 139,382
Tyl 24,528
=201 )| =M E B A 721,440 697,091 24,349
= 557,530
Al HI 139,382
Tl 24 528
HNASE 9 2Hl XN (A=ESIIZ2ELESAH) 721,440 697,091 24,349
= 557,530
AlH] 139,382
=yl 24 528
23 2A2A &Y 138,425 133,654 4,771
= 110,740
Al HI 27,685
101 e1214| 119,648 115,294 4,354
= 95,718
Al Hl 23,930
03 2IHAZ2ZXNHE = 119,648 0 119,648
O =30 22 Al 119,648,000 119,648
= 95,718
Al H] 23,930
201 Bt 4d9 ]| 8,217 7,800 417
= 6,574
Al H] 1,643
01 AP 22| H| 8,217 7,800 417
OAtdl &2l M3 6,917,000 6,917
= 5,534
AlH] 1,383
OAdl &e| 249 1,300,000 1,300
= 1,040
Al H] 260
202 o4 H| 10,560 10,560 0
2 8,448
Al H] 2,112
01 2Ll 10,560 10,560 0
O=2UW 0 H| 10,560,000 10,560
2 8,448
Al HI 2,112
o230 AN=H XA 273,890 268,763 5,127
= 219,112
Al HI 54,778
307 giztol A 273,890 268,763 5,127
= 219,112
Al HI 54,778
o1 s R=tl 273,890 268,763 5,127
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O2g=0 &4 X& 273,890,000& 273,890
= 219,112
AlHI 54,778

Az20 ABHEFK 267,542 251,182 16,360
= 214,034
AlHI 53,508

307 212t0l & 267,542 251,182 16,360
= 214,034
AlHI 53,508

012 <224 267,542 251,182 16,360
O2dzgs0 2ZdexX 267,542,000& 267,542
= 214,034
AlBI 53,508

=220 YREEX JIZH2Z2X 6,415 6,333 82
= 5,132
AlH] 1,283

101 @124l 6,415 6,333 82
2 5,132
AlH] 1,283

04 JIZAtNZ22XNSES 6,415 6,333 82
O2dzgs0 gREX 6,415,000 6,415
2 5,132
AlHI 1,283

2280 2ele¥¥ HHIX=s 4,920 3,920 1,000
= 3,936
AlBI 984

202 o4 4l 4,920 3,920 1,000
2 3,936
AlBI 984

01 ZLHO I 4,920 3,920 1,000
OEt 87 =AaE =l 1,920,000 1,920
= 1,536
AlH] 384
O2dgs80 us 3,000,000& 3,000
= 2,400
AlHI 600

Azs0 g2 5,720 8,711 A 2,991
= 4,576
AlBI 1,144

201 2erE= 5,720 7,411 21,691
= 4,576
AlBI 1,144

01 At 2t 2l bl 5,720 7,411 A 1,691
OANal & E22 HH 5,300, 000& 5,300
= 4,240
AlHI 1,060
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OgzsHAARAS sloaa=g 420,000& 420
= 336
Al 84
0l Bl 8l 24,528 24,528 0
801 GBIl 24,528 24,528 0
01 Btolbltl 24,528 24,528 0
Ououldl sl 24,528,000 24,528
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